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No BT R HE HElniELE trL-134 t 9 L-137 EEE

Ba. kg Bg. kg Ba ke
1 =1 R6.5.13 BRE=EE -1+ (% BREE9(<2.7) BRHEE9(<3.2) BRHEEY
2 tSHET R6.5.13 BR-HE 1T () BRHEE9(<3.1) BREE3(<2.7) - Janpcac N
3 tSHET R6.5.13 BRE-BE -+ (% BRHEE9(<3.2) BREE9(<38.7) - Janpcc
4 T $ERET R6.5.13 SE(FHE) BRHE9(<6.5) BREE9(<4.9) - Janpcc N
5 T $ERET R6.5.13 SE(FHE) BRHEE9(<34) BREE9(<4.2) - Janpcac N
6 SRR THT R6.5.11 AE(FHE) BRHEE9(<L5.5) BREE3(<L5.7) BRHEY
7 AIJIET R6.5.13 AE(FHE) BREE3(<54) BREE3(<4.2) BRHEY
8 T $ERET R6.5.12 SHIEHES (F4) BREE9(<54) BRHEE9(<3.8) BRHEY
9 iy =t R6.5.11 SHIEHES (F4) BREE9(<38.7) BREE9(<2.8) BRHEY
10 [EEE L) R6.5.13 BHEFESL(5BLY) (BE) BREE9(<7.2) BEE9(<6.1) BHEed
11 K WRET R6.5.13 =lITDZ (F4) BRHEI(<4.6) BRHE3(<43) BREEY
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